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• RSA case
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RSAexample I p=5 q=B A-65 41nF 4.12--48

÷%÷É÷=¥m*=z,
encode (2) = 25 und n =32 und 65=32

decode ( 232) = 3229 mod 65 = 2 ✓

É6Ñg message

encode/ 16 ) = 165 wood n - 162nd 65=
1048576 und 65=61

decode (G1 ) = 61 mod n6s= 16 ✓



RSA e✗2 SETUP p= 3 q-11
n=33

ftp.z.lo-zoe-77#opnuesd--e-1waedQln)--7-hmd2o--3
public private
-

0B£ ✗=5 orig message
encode/5) =57ñÉdn=78125rad 33=14

decode (147--143
-duwdn -2744 und 33--5✓



RSA in practice :
• pig very large fasrrent 4096 bits?) ⇒ operations

have to be logarithmic ( ~_ 9096 steps)
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